
Pyramid Sums

7 7

1.   Write any 4 digits form 0 to 9 in the 4 circles at the bottom row of the pyramid.  

2.  To find the numbers that go in the second row add the numbers in 2 circles that are next to 
each other.on the bottom row.  Divide that total by 5 and put the remainder in the circle that is 
just above the two circles you used to find the sum.  For example.  If the number next to 7 is a 
6 then their sum is 13. 5 divided into 13 two times with a remainder of 3.  Write a 3 in the circle 
just above the 7 and 6.  Continue this until all the circles in the second row is filled.  

3.  Continue this process, filling each row until you find the single number that goes into the top 
circle.

What number that is in the top circle?
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Solution:  The top number will be 4.  
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